
1 2 3 4 5 6 7 8 9 10 11 12

1 nw/k esa xk; 23 0 1 24 0 0 2 0 0 22

2  'kq"d xk; 20 0 2 22 0 0 0 0 0 22

3 vkSlj 69 0 3 72 0 0 1 0 0 71

4 eknk cPps 14 1 0 15 0 0 3 0 0 12

5 uj cPps 2 0 0 2 0 0 0 0 0 2

6 lkaM+ cNM+s 0 0 0 0 0 0 0 0 0 0

128 1 6 135 0 0 6 0 0 129

1 nw/k esa xk; 2 0 0 2 0 0 1 0 0 1

2  'kq"d xk; 1 0 1 2 0 0 0 0 0 2

3 vkSlj 4 0 0 4 0 0 0 0 0 4

4 eknk cPps 4 0 0 4 0 0 0 0 0 4

5 uj cPps 2 0 0 2 0 0 0 0 0 2

6 lkaM+ cNM+s 0 0 0 0 0 0 0 0 0 0

13 0 1 14 0 0 1 0 0 13

141 1 7 149 0 0 7 0 0 142

* TWH - TRANSFER WITHIN THE HERD.
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ekfld izxfr & gMZ ,dkmUV] ghQj fj;fjax QkeZ] i'kqyksd&_f"kds'k ¼iwoZ esa fons'kh i'kq iztuu iz{ks=] HkjkjhlSa.k&peksyh½ 

ekg % fnlEcj] o"kZ % 2023&24
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